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STEP Problems - Algebra (1 page; 6/9/18)

secO+1—-tanf __

(1) Show that T secO — tan6

(2) Solve the equation x —vx = 6

bc— b%*c—-a? b
1C_Ca =7 & =% =51, show that —— =

(3) Given that 1-c a+51  b2+51

(4) Express the following parametric equations in Cartesian form
(ie arelation between x & y).

(i) x =2t +t% y=2t2+¢3

(ii)x =5t —4, y =9t —t3

1 1 u+v

BG)If y= , = and w = —,
1-(3)’ (%) e
show that (1 + %) yop = 1( )2
1-(¥

(6) (i) Find an expansion for (a + b + ¢)3, and give a justification
for the coefficients.

(ii) Extend this to (a + b + ¢)*

(a1 +az + -+ an)")



